RECODE

  veto_cha veto_ove line_ite partial budget_v  (0=1)  (1=2)  (2=3)  (3=4)  (4=5)  .

EXECUTE .

CATPCA

  VARIABLES=veto_cha veto_ove line_ite partial budget_v

  /ANALYSIS=veto_cha(WEIGHT=1,LEVEL=ORDI) veto_ove(WEIGHT=1,LEVEL=ORDI) line_ite(WEIGHT=1,LEVEL=ORDI) partial(WEIGHT=1

 ,LEVEL=ORDI) budget_v(WEIGHT=1,LEVEL=ORDI)

  /MISSING=veto_cha(PASSIVE,MODEIMPU) veto_ove(PASSIVE,MODEIMPU) line_ite(PASSIVE,MODEIMPU) partial(PASSIVE,MODEIMPU)

  budget_v(PASSIVE,MODEIMPU)

  /DIMENSION=2

  /NORMALIZATION=VPRINCIPAL

  /MAXITER=100

  /CRITITER=.00001

  /PRINT=LOADING QUANT( veto_cha veto_ove line_ite partial budget_v )

  /PLOT=OBJECT (20) JOINTCAT( veto_cha veto_ove line_ite partial budget_v ) (20) LOADING (20) TRANS( veto_cha veto_ove

  line_ite partial budget_v ) (20)

  /SAVE=OBJECT (OBSCO(1)) .

DESCRIPTIVES

  VARIABLES=OBSCO1_1

  /STATISTICS=RANGE MIN .

COMPUTE VETO=((OBSCO1_1-(-2.85287267422))/3.974061936573) +1 .   

COMPUTE  VETO2= (((OBSCO1_1-(-2.85287267422))/3.974061936573) * 99) +1 .

DESCRIPTIVES

  VARIABLES=VETO2

  /STATISTICS=RANGE MIN MAX .

